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General Instructions @

1.

=

The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separa tely.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. EHach question is a one mark question. You are to select one most appropriate
response out of the four provided to you. ;

Question numbers 34 to 36 in Section-B are questions based on practical skills. Fach
question is of two marks.
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H-31 / SECTION-A

% 7 Sl & T faflae S sifee qeiel 1 e w0k S O Y 1 faEeT w9 T

Name the organisms which utilize complex substances and break them down to simpler
forms.

\2/ foredt freell & yr 9@ = 6t w3 wh fafy fafag

Write any one method to induce current in a coil.

ﬁ/ g g5 =1 T fafEy fSas gy grrandt sei 99§ =T F 9aE & 7Y vy S S ¥

Write the name of the substance whose vapours are used to run the turbine of the generator of
ocean thermal energy plant ?

y O X' F FexOs 5 W19 SR srctfers o S<irdt & sk s S Yot i wefe 91 ey #
o s €1 9 X T vt e avfafrar o aEmEie SEE fate)

The reaction of metal ‘X" with FexOs is highly exothermic and is used to join railway tracks.
Identify the metal “X’. Write the chemical equation of the reaction.

5 I equil 1 SeerE e Sl g % 9 @ Fe er SieEs Y @l
@ AT
() oy wwe T Yamed H W WW e 1 e Al v sifilwst % wwmtes
TR off fafaw)

What is observed when carbon dioxide gas is passed through limewater
(i) for a short duration

(ii)  for long duration ? Also write the chemical equations for the reactions involved.
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. . How does our body maintain blood sugar level ?

- {

/ 5 < it T STl g Freta stfufmarsll & TR % M fufay ' 3
| (i) Ca0 +H,0 = Ca(0H),
(i)  3BaCl,+Al, ([SO4)3 = 2AICl; +3BaS0y
(i)  2FeSOy — 3 FeyO3 + 50, +503
Name the type of chemical reac;ion represented by the following equation :
{i) Ca0 +H,0 — Ca{CH),

(i) 2FeSO; — 7 ; Fe,05 +50, +50;

@ W g v ST SRl BRI 2 g wlyd 1 wd W w feer T o for e ST § 3
(@) 39 U1 1 gEmElTEs T e g fafe

(b) <T@ T g <ol b ot ffya femer s & & g FER S oered g @1 wgfaa
Tt TR fate |

A white coloured powder is used by doctors for supporting fractured bones,
(a) Write chemical name and formula of the powder.

(b) When this white powder is mixed with water a hard solid mass is obtained. Write
balanced chemical equation for this change.

9 @@ﬂ@aﬁaﬁmwéa@ﬂsqmﬁmmﬁmmﬁmﬁﬁéltmﬁm%?ﬁ3
qfferf F d aur St = gl e 1w o et €2 97 veri & aamEit A fafed
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_-Why some metal surfaces acquire a dull appearance when they are exposed to moist air ?
¢ Write colour acquired by the surfaces of copper and silver in such situation and also write the
chemical names of the substances due to which it happens.

4&@ 1 2 S ) g s S e P ¥ P TR St g §1 v daw A e 3
fere s et afilem w Hafea wintr W )

list two observations that determine that a chemical reaction has taken place along with
corresponding balanced chemical equations for the justification of each observation.

11 e 3t ) T R 3% Am fefae wiet frer wiierd & € 3
@)  heeREe, W SR o S Qi Y 6
(i) A 9EA @ 3w 9 ufe
(i) TR G WA o SEvnuol
Identify and name the organs where the following processes take place :
(i) Site of the complete digestion of carbohydrates, proteins and fats.
(i)  The largest gland in human digestive system.

(iii)  Site of absorption of digested food.

12 et % folw stovess Bm o T fafeg) wre € 9a o sl ate w1 fafey e g 3
W‘\’T:W@m%:

G) ¥R T T 1w B
() Y W H RS B S

(i) ETERSE, SIS S ol il SUTEd

Name the hormone required for the following. Also mention the name of endocrine gland
from which that hormone is secreted :
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(i) Lowering of blood glucose.
(if) Development of moustache and beard in human males.

@ Metabolism of carbohydrates, fats and proteins.

y' uzRd fi it e TR U WaH 91 U YR F 91 AR gfs S agaram g2 3

Explain how does auxin promote the growth of a tendril around a support ?

X7L famr o fopht whRive ¥ forw <uife 1T v - [ T 1 STeEd i a9l v (diee #) & ur e 3
=1 N - 20 S (Mfy #) & °&E &t GIGES IR |
V=10 S ¥ 9 1 UF 9 SHIfST | 3E UH FHi Gl § 79 Fiiys S afily R TR
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Study the V - I graph for a resistor as shown in the figure and prepare a table showing the
values of [ (in amperes) corresponding to four different values of V (in Volts). Find the value
of current for V=10 volts. How can we determine the resistance of the resistor from this

graph?
10
oo Bhrenseinnne /
oy h
= !
Z 4} P
% P
2t
AR .
123 435

I (amperes)

15 (a) U 9UER GRARAR GRS a9 5 39 snel 1 el s @ s e 3
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(a)  State three factors on which the strength of magnetic field produced by a current
carrying solenoid depends.

(b) Draw circuit diagram of a solenoid to prepare an electromagnet.

16 ﬁmwm%wmwwwmﬁmﬁaﬁmﬁﬁaﬁ 220V FEE 3
Y foert faga um & ? 200 V T Seferd forT i W 3w forega %Al ot area aREhier shifs |

How much current will an electric iron draw from a 220 V source if the resistance of its
element when hot is 55 ohms ? Calculate the wattage of the electric iron when it operates on
220 volts.

17 maﬁ%mwmwﬁﬁwmﬁﬁma@wﬁmﬁ%lmeﬁmﬂqsﬁ 3
Tt B TS 3 SN § e Sous O =R

(i) a1 T TER F g Sl T S T i e SWE 7 39 S % forg s
fefEg)

i) e st w A defa wE e e
(ii) e T § TR SRl e W ARt S wia fatay |

There are many limitations associated with the setting up of wind energy farms to harness
energy. Raman wants to generate electricity by using wind mill in his parental village in Uttar
Pradesh.

@ Is it advisable to set up such wind energy farms in his village? Give reason for your
answer.

(i) ~ Write any two limitations associated with the wind energy farms.

(iti) ~ Write the energy transformations which take place when wind mill is used for
generating electricity?

18 qgmmﬁﬁw@mmﬁ%ﬁrqwawm#?ﬁqmﬁaﬁa&ﬁmﬁwmmﬁaﬁx 3

Name the three forms in which energy from sea is available for our use and write one
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limitation of each.

19 (@) VA FIR gehe ad S fad i wee & qant g fafen) o fHEeeam 38 g s
b e wife R fRe weER 3 ST o ot )

(b) R i URH e e % oEfte W aen 1 fafe

(a) Write the chemical formula of hydrated copper sulphate and anhydrous copper
sulphate. Giving an activity illustrate how these two are inter convertible.

(b) Write chemical names and formulae of Plaster of Paris and Gypsom.

20 (a) Wi‘aﬁmﬁmﬂwﬁ@q TR argd o = guwers £ 5
(b) e o o i

G)  Torl g % Efew o srfulE w0 W ergied 9 safie T8 O
(i)  Hfegw ong ® e w0 & o =9 AT A g ¢ v s ¥

(i) ST (L) SATEE i Ugihtem & aafufmar weidl & 22 o & ari # ey §
HTH A B

(a) Describe an activity to show that metals are good conductors of electricity.
(b} Account for the following :

(1) Hydrogen gas is not evolved when a metal reacts with nitric acid.
(i)  For storing sodium metal, it is kept iinmersed in kerosene.

(iiiy ~ The reaction of iron (IIl) oxide with aluminium is used to join cracked
iron parts of machines.

21 " # wtg A9 # fRafafy wwemed sl § 6w fafee feu ver 8 £ 2 wee sowl 8 @ 5
TS FIEA TE-ARFIRE &1 7 2§ 7
Describe the mechanism of breathing in humans. How does the exchange of gases occur in
tissues? What happens to the carbon dioxide which is collected in human tissues ?
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60,90 TAT18 Q F I wRidad! % ured T w1 IE vy gRefer Hii
For the series combination of three resistors establish the relation :
R=R, +-R2 + Ry
where the symbols have their usual meanings.

Calculate the equivalent resistance of the combination of three resistors of
6 £, 9 © and 18 {1 joined in parallel.

23 (a) Fonelt e O % U o ¥ oo ol e =R SIR s R 6 T wit 5

(b) Iworm sifer for i @ T il F wraemts A § fiom A stew w0 i aw m
IHT HUM? (3T F0 g H01 §)

() I O g & H R st ¥ €
()  STow 1 greshia & w8 el & wea fd e

Qi) Tl Ul R 8 a Yl & e fd W )
Y FFO H o7 ST HI wR afed gfe wifauy

(a) Draw the magnetic field lines through and around a single loop of wire carrying
electric current.

(b)  State whether an alpha particle will experience any force in a magnetic field if (alpha
particles are positively charged particles)

(i) it is placed in the field at rest.
(i) it moves in the magnetic field parallel to field lines.
(iif) it moves in the magnetic field perpendicular to field lines.

Justify your answer in each case.

24 iR fas g U RRaTRETT 6 A s quitl & [ St R s 8 W 1@ arRER JeE 5
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Describe an activity with labelled diagram to show that a force act on current carrying
conductor placed in a magnetic field and its direction changes with direction of current
through conductor. Name the rule which determines the direction of this force.

umT-s/ SECTION - B
25 forer Pl o) 2y v 1R R T el & @ 9RY fageg &1 9@ SN

- - S
T R

g7 difean
EESIFEE
ICEES

(@) A, B3RCH pHAF ¥ & |

(b) AW pHAM B3R C % pH M I 70&T 31 51
() CH pHAM A RB % pH A it 1en 37 ¢
(d) B pH M A SR C % pH AT Y S73aT afer 1

Observe the following figures and choose the correct option given
below :
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A B C
Dil Hydrocloric Dil sodium Witer
acid hydroxide
solution

()  pHof A, Band Care equal
(b)  pH of Ais greater than pH of Band C
(<) pH of Cis greater than pH of A and B

(d)  pHofBis greater than pHof Aand C

26 AR F: A, B 91 ¢ 3R Faerai § pH TR SR W IS 9@ O adl pH HE o g e E | 1
T R?

A B C
(a) |+iem 10 | €2 &, 7
(b) |, 2 Hiem, 10 | ®,7
o |&7 e, 2 | e, 10
(d) | e, 2 e, 10 | &1, 7 g

Which of the following is correct about the colour obtained on pH paper and their pH values in the
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solution taken in test tubes A, B and C respectively?

Dil sodium hydrogen  Dil hydrochloric

carbonate solution acid
A B c ]
(a) |Blue, 10 | Red,?2 Green, 7
(b) Red,2 ! Blue, 10 Green, 7
{c) Green, 7 Red, 2 fue, 10
=
(d) | Blue, 2 Red, 10 Green, 7 ‘

27 o e W dl g Tl SRSl U a7 SRl SRt ST S © af feRat T Hegor 2R 1
(a)  Toi =t wxe =Tl g W 2
(b) ik =l G il TR 9= & Sl §
() TR &l T S g
(d) ek L g gt i T g 2

When dilute hydrochloric acid is added to granulated zinc placed in a test tube, the
observation made is :

(a) the surface of zinc turns shining
(b) ~ the surface of zinc becomes black and dull
()  odour of chlorine is observed

(d)  acolourless and odourless gas evolved with bubbles

28 it ¥ Yafatem ¥ o ows o s o < wadtert A oiR B # sren fad s Tgfatee 1
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@)  wrEel A - i arfufm T, wETet B - AL SR w1 U ovilg faerea @ favend
feram |

(b) e A - Yt ¥ YgfEtm B swd aaviy e @ fefia e weeed B -
h1g eafufrar =gl |

© W&l A - S afufiren w8, weTd! B - ®1 stfufwar =€

(d) TETH A - i sififir T, weet B - seRA Ygfifree @i srien sifte |fsha v safert
Ferer =1 {1 afEfda &1 T

Geeta took Aluminium pieces and added them in two test tubes A and B containing
aluminium sulphate solution and ferrous sulphate solution respectively. Correct inference
drawn by her on the basis of her observations should be :

(a) Test tube A — No reaction, Test tube B - Al displaces iron from the salt solution.

(b)  Test tube A - Aluminium displaces aluminium from its salt solution, Test tube B - No
reaction.

(©) Test tube A — No reaction, Test tube B - No reaction.

(d)  Test tube A - No reaction, Test tube- Iron being more reactive than aluminimum
changes the colour of the solution.

29 T B ¥ IR A, faad fre fie-fie oo g 9, § e & 252 oo 59 waee #

w18 erfufsran Ufera 87 B e B
(a) AL(SO4)3 (b) ZnS04
(@)  FeSO (d)  CuSO

A student added a piece of zinc metal each to four different test - tubes containing different
solutions as given below. The test tube in which no reaction was observed, contains :

(a) AD(504)3 (b) ZnSOy
(©  FeSO4 (d)  CuSOs
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30 i ¥ i 7Y agERr Q) wiRE w1 Soisen # i fear W g i

12 Q ity & 5 & <9 faveiat 8

@ 6V (b) 24V © 28V (d) 12V

Two resistances are connected in series as shown in the diagram.

A

,,,,,,, ——__ >

| 130 12 ) }

v i
r Iy £y -
1HH 4 =

5v K
The potential difference across 12 Q resistor will be :

(@) 6V (b) 24V (© 28V (d 12V -

31 Bt 3 undsmg § g 3 afildl 1 g iy Ia 0 & far sfdi e dm wee XY, 72 1

o Hafera T
ij-'ﬁ | *r\ : 1 R
_QX (A e % ,'\’s,l‘,:..uw; L @ w«l.,\m—l
{ | "l ' 3 ‘ '
Py AR SanaleThIgRE. l
! &, |
H LA A A gt
- - Ry R
X Y Z

sieeHiet =l Ao 1 @ wel fofy foad g aw €
(@) uRmaxH (b)  uRuxy¥H
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() wRugzH (d) i aRael J
Three students connected two resistors in parallel to find equivalent resistance by three
methods X,Y, Z.

r“”':rH!":““' il }m.w + _um., sissidd \_3 e 1_{ e

4

i ' +
;{% _{FK‘E s ;\‘ . 3 _ m)x \.
f___T,\wa_ T—,—i T 11 o . ]I % 7 MIM
SRR i ,

‘"""\/\/‘\"\f\:'\/ — \/'u
""""" +§ 'v?"—‘ £y Ry
X Y Z

Correct method to connect voltmeter is :
(a) In circuit X (b) In circuit’Y

{c) In circuit Z (d) In all three circuits

32 ‘URTST TSI % fIU WeRIY W1 B HTEYE & 3¢ WA & o W wrRfire udt @ 2 & faw 1

AT | vEel ST Fe —

(@) wEH

(b) TR H

() KOH foeraa & .

(d) CESERIRE o o

Before testing the experimental leaf for starch at the end of the experiment, “light is necessary
for photosynthesis” it should be boiled in:

(a) Water
(b)  Alcohol
() KOH solution

(d) Hydrochloric acid
33 'veA & 3R CO, sefia dt &' quit & e, v vwre & e wwee | o g, w1
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g:

(@) NaOH (p) KOH (g NaCl (dy K

In the experiment to show that 'CO, is released during reépiraﬁon', the solution in the test
tube is chemically :

(@ NaOH () KOH (¢ NaCl (d K

31 fyene siufwaRl 1 orerR S g Rl o 3 T waEae § Y wewe # el faemm 2
SR U wIG F T W A T S & qven o D R g ufted Al dwr S wh |
THe1 41 HIRYT & Gohal &7 ARl i |
While performing an experiment to study the displacement reaction, a student took aqueous

solution of ferrous sulphate in a test tube, and placed a copper strip in it. No change could be
observed even after one hour. What could be the reason? Explain.

35 43 2 Ao a2 faciisiiex % s gwig e §1 2w w1 e genfa w0 & fag deedf 2
a7 Taeitex =1 & =97 F91 391 91eT

m@ G
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() e feiter A 1eer A,
() e FeeHE Vy SV,

In diagrams given below 2 voltmeters and 2 milliammeters are shown. To verify ohm's law
what should be the correct choice for voltmeter and milliammeter.

200 400
> 600
mA
Ag
'fv\h'
A ’
~
¥a Va
(i)  Correct milliammeter A or A,.
()  Correct voltmeter V; or V5. e

Give reason for your answer.

36 1y ewi & fore ot = el =1 sl STRIar AR A % QAU STEvasE Gt o SeE I |

Mention the materials required to prepare a temporary mount of a leaf peel to show stomata.

-0000000-
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